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Hand in Quiz then Review rules for add,
subtract, multiply and divide Integers
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Warm up after the quiz

Add,subtract, multiply or divide (Use rules) Q‘t

(show wgg;f&r subtract) SD'“L S 60

N ./\ /\/
1) (+8) x (+9) 2) (-7 3) (+4) +(-17) = (—|3)
=(+12) (4—35)
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Cheet 253 Homework Solutions
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Homework Solutions
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l‘\, \;\—:l\ —(-2 \3 Homework Solutions
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gers
perations

We have already learned that you can add or multiply in any
order, but that order matters with subtraction and division.

Therefore, if you have a question that contains more than one
operation, the order in which you answer the question is very

important.

There is a set of rules to follow. Often students remember the
order, by remembering the word BEDMAS. That is, first you
solve anything that is inside the brackets. Next, you simplify any
exponents. Then, do all the multiplication and division in the
question, in the order it occurs from left to right. Finally, you do
the addition and subtraction in the order it occurs from left to

right.
B - Brackets
E - Exponents

D Division and Multiplication, in the order
M) it occurs from left to right.

A}Addition and Subtraction, in the order it
S Joccurs from left to right.

: S
Examples: B& D\/M '&)
a)6- b)4x4+2-8+4
- 6- 8 = lb+2-3=4
- = b+2- 2
- ( ) :- \l‘ -2
c) (-9) x (-3) - (+4) x (-5) d) (36) x (+8) + (4) x (+3)

) —@OXES)  =Gud < ~)xe3)

e A T NS
= (*21) + §an) = ("3L>
€)5x5-(8-2x3) f)2+8x4-(9+1)
5x5 -(®- ¢) __1_\_zx.,|_:’(\6'
R @ = 2y 3 - o)
= 18 T (v = 3y - (lu)

= ('L'L)
9)6-4x4+8x(2+1) yh)4x5x5-[8-(-3) (+5)]
<o i~ ex = Ix5x5 -['z‘s- @19
'(o—u,—zx Jov-
addl oFf
-6 =2 =4x5xs ~[8 4+ G 19)]
o 9% oy

={x5e5 — (23)
Q = 20x3 - (+2y)
= oo+ (+2%)

= o 4 (23)
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Examples:
a)6- 2x4 b)4x4+2-8+4
6 1 vr i - 84
6+ & ) IL+2- (€3]
= -2 l%lc (]
)( 9) x (-3) - (+4) X (5)) d)w) (-4) x (+3)
Ty - (rnes b 4g) = () x D
e 3 O Vo x 69
(+70) 2420 = A
= ¢1) N2+8x4-(9+1)
e)5x5-(8-2x3) =2+3x4— (Io)
-%5x5 -(3\;\3 = 24 32-(19
= 925 — (1) H 34 = (9
= %— (2) =@
9)6-4x4+8x(2+1) h)4x5x5-[8-(-3) (+5)]
b- 4x4~8 x (3) =Ux5x5-[g- J'("-”ﬂ
=b- bt x @G| . lxsxs. E%J,@\s)]
z6-@ x@® 4 X 555 - f_n.%]
= b- - (Lﬂg— (+23)
= @ = o —C(+23)
= (;7'1 3
Example: Hint: E\{aluate Numerator and
Denominator separately
[16-(-4)]1X(-3) T0®  step 1)
3(-2 ‘Bo‘\“\‘OI"\
Step 2)
Step 3)
Toe

b L(J‘D} x B)

b+ Q—'-l)] x(-’s)

+20) x(-3)
<k__60>

op 2%t
Ro+om (2L-2) Q_L;\ L ()
=64 [
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